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Il 21,730 24,568 N2,838
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= 37,800 37,800 0
s 1,821,102 1,721,102 100,000
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401 AIEHIZ 2 I 40,000 0 40,000
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OUsS sOHE de8E+ N A
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= 140,980 140,980 0
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=) 12,000 0 12,000
s 0 12,000 A 12,000
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=) 12,000 0 12,000
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< 60,000 0 60,000
= 0 60,000 A 60,000
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< 60,000 0 60,000
= 0 60,000 A 60,000
o2& =Z2IA 71,813 71,813 0
< 67,100 0 67,100
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S 66,313 0 66,313
= 0 66,313 A66,313
01 At 22|l 66,313 66,313 0
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- FIIZA(B7THES)
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- = Al Z AL 238 100,000& * 1000 £ 1,000 1,000 0
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< 1,200 0 1,200
= 0 1,200 A 1,200
207 A I | 5,500 5,500 0
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e 0 180,000 A 180,000
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= 640,000 340,000 300,000
| 19,320 19,320 0
< 18,980 29,200 A 10,220
[ 1,124,516 1,025,212 99,304
ot=Xeld &X 775,780 486,000 289,780
= 640,000 340,000 300,000
= 18,980 29,200 A 10,220
[ 116,800 116,800 0
=2 otHeld XA 775,780 486,000 289,780
= 640,000 340,000 300,000
< 18,980 29,200 A 10,220
i 116,800 116,800 0
401 Al B2 28I 775,780 486,000 289,780
= 640,000 340,000 300,000
< 18,980 29,200 A 10,220
e 116,800 116,800 0
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